o —X:1:5:6-7:8:9 FHI—A:1-4:5-6:8-9

MR ZEZFABET ¥ VT4

BRME R : ERK294£04 A 13 B

Eo—A:2-4-5:6-8:9 BBk =L 7 (B8R

[[I=tiva ® 4 QUT | IN |GROSS| HDCP [NE T BE JEAT ® 4 OUT | IN [GROSS| HDCP N E T|A |5 E

B | HEm GL 40| 42| 82 |12.0{70.0 : 51 |BEER ® 46| 44| 90| 14.4|75.6

wElpE Bi . 45| 41| 86| 15.6|70.4 g}};ﬁ\ 52__j<i§ i 53| 49| 102 | 26.4| 75.6

3 |FERE B 48| 49| 97| 26.4| 70.6 RIL | 53 |RE B 50| 52| 102 | 26.4| 75.6

4 |frEE HE 44| 38| 82 | 10.8| 71.2 54 | EF 8 44| 45| 89| 13.2| 75.8

5 |k &= 2| 40| 82 |10.8]71.2 55 |4k Hik 44| 45| 89| 13,2 75.8

6 |4 B 46| 42| 88| 16.8|71.2 56 |GiE B 43| 46| 89| 13.2|75.8

7 | T B 51| 45| 96 | 24.0] 72.0| 57 |&m #— 46| 29| 95| 19.2| 75.8

8 |BEAMN @mE 47| 49| 96 | 24.0| 72.0 58 |JEER  BEEE 46| 49| 95| 19.2]75.8

9 |®eE E a1 42| 8a|10.8|72.2 59 ¥/l E— 50| s1|101 |25.2|75.8] | |

0 |EH EE | 41| o5 |228)722| | | po Sd |60 |@I %8 45| 43| 88| 12.0| 76.0

1| f#EFH EH 42| 46| 88| 15.6| 72.4 61 |k BLARE 50| 44| 94 | 18.0| 76.0

12 |4 # a2| 29| 81| 8.4|72.6 62 |BiF —— 47| 53| 100 | 24.0| 76.0

13 |ZEE R 46| 47| 93| 20.4[72.6 63 |X&E 42| s1| 93| 16.8] 76.2

4 |fHE 5P a8| 42| 80| 7.2|72.8 64 |FK ETR 41| 52| 93 16.8] 76.2

5 [ == 45| 41| 86| 13.2]72.8 % BT BEx 50| 49| 9a|22.8| 76.2

16 |[fh5E5 B 42| 43| 85| 12.0| 73.0 66 | i & 47| 52| 99 | 22.8| 76.2

7 |E RE#E % 42| 43| 85 12.0] 73.0 67 |1l IEth 46| 40| 86| 9.6 76.4

18 | &= Bk 41| a4 85| 12.0] 73.0 68 |MhieE BB 38| 48| 86| 9.6]76.4

19 | = 65| 54| 100 | 36.0] 73.0 60 |fh=ip =S 51| 47| 98| 21.6| 76.4

20 |BKE 43| 40| 82| o.6]73.4 70 |fhA F2B 48| 50| 98 21.6|76.4

21 [fhiR 51| 44| 95 21.6| 73.4 71 | BT &R 43| 42| 85| 8.4|76.6

2 |sAs HE 49| 46| 95| 21.6|73.4 2 RE TER 43| 42| 85| 8.4|76.6|

23 |kE |/ 40| 42| 82| 84| 73.6 7| &% Eth 41| 44| 85| 8.4|76.8| |

o4 |fhmiR % 43| 45| 88| 14.4] 73.6 4 |E B 47| 44| 91| 14.4|76.6] |

25 |BFE A 46| 47| 03| 19.2] 73.8 5 | k& EE 51| 46| 97 |20.4| 76.6

26 |&¥ AR 53| 52| 105 | 31.2] 73.8 76 |3RME e 50| 47| 97 |20.4|76.6

o1 WA R 43| 43 86 | 12.0| 74.0 TR WE 50| 47| 97 |20.4|76.6 2751 y

28 | kA ScRE 48| 44| 92| 18.0| 74.0 78 | FH EE 49| 48| 97| 20.4| 766

o |4 BIE 52| 58| 110 [ 36.0| 74.0 79 | Kk Tk 47| 50| 97 |20.4| 76.6

0 & =8 0000 | 38| 41| 79| 4.8/ 74.2 3050 |80 |mm i 44| 53| 97| 20.4| 76.6

31 |EIE 42| 49| o1 | 16.8| 74.2 81 |1Em E 53| 50| 103 [ 26.4] 76.6

52 T Sk 44| 46| 90| 15.6| 74.4 82 |RBF HE 47| 43| 90| 13.2| 76.8

33 |78 M 10| 46| 95| 20.4] 74.6 83 | BIE 44| 46| 90| 13.2] 768

34 |HE EsE 48| 47| 95 | 20.4| 74.6 o |gim BE 51| 51]102 | 25.2] 76.8

35 |m HE 46| 42| 88| 13.2| 74.8 85 PR Afk 19| 53| 102 | 25.2| 76.8

% | {fhHE W 48| 46| 94| 19.2| 74.8 86 |HhiR A 49| 53| 102 | 25.2] 76.8

7 |mA Tz 47| 47| 94| 19.2| 74.8 VAR = 53| 55(108 | 312|768

38 |t Ik 44| 50| 94 |19.2|74.8 88 |y Wl 52| 56| 108 | 31.2| 76.8

39 BB mn 43| 38| 81| 6.0/ 75.0 89 |fhi2 iEIH a1 42| 83| 6.0]77.0

PR RET 44| 43| 87| 12.0]75.0 90 |sA =M 50| 45| 95| 18.0| 77.0

4 |ER BE 8| 45| 93] 18.0]75.0 ol |gam Bt 55| 46| 101 | 24.0( 77.0

2 |%E e 46| 46| 92 | 16.8|75.2 o2 |fdh = 53| 48| 101 | 24.0| 77.0

3 |EE AEE 46| 46| 92 | 16.8| 75.2 93 | Kk BHE 53| 48| 101 | 24.0| 77.0

4 |7 B 53| 45| 98 |22.8|75.2 IEREsN: 35 56| 51]107 | 30.0] 77.0

5 |[EEE @ 5ol 46| o8 |2z.8|72| | | 95 |7 e 55| 52| 107 | 30.0| 77.0

46 |mER 50| 48| 98 | 22.8| 75.2 9 |EREEIlL R3¢ 49| 45| 94 | 16.8| 77.2

47 | B A% 65| 49| 104 | 28.8| 75.2 a7 ||l E 47| 47| 94 | 16.8] 77.2

8 | kM H*E 50| 47| 97 |21.6]75.4 98 |fhE KA 47| 47| 94| 16.8] 77.2

10 |#R BE 54| 49| 103 | 27.6| 75.4 99 |z m AL 51| 49| 100 | 22.8| 77.2

0 |wE Fnk 40| 44| 84| 8.4 75.6 100 |28 B 51| 49] 100 | 22.8| 77.2
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BRE B :SER%294E04F 13 R
Ha—A:1:56-7-8:9 I —R:1-4:5-6-8-9

Bo—R:2:4-5:6-8:9 BRER =1L 7 {ELE
gL K £ OUT | IN |GROSS| HDCP [N E T|A |7 E WEAL K 4 OUT | IN [GROSS| HDCP |N E T|A |3 ®E
101 |BE XA 48| 52| 100 | 22.8] 77.2 161 | Kdgk Rk 50| 54| 104 | 25.2| 78.8
102 |2 BE R 51| 55| 106 | 28.8] 77.2 152 | R EE | 44| 41| 85| 6.0]79.0
103 [#FE EXR 49| 57[106 | 28.8] 77.2 153 |RZBHE Sk 39| 46| 85| 6.0]79.0
104 |37 T s2| 47| 99 |2L6|77.4] 154 | B jEE 44| 47| 91| 12.0] 79.0]
105 |=®B % 50| 49| 99| 21.6|77.4 155 |#E4 0 50 | 55| 54| 109 | 30.0] 79.0|
106 | 5B HEF 49| 50| 99 | 21.6]77.4 156 |BEIRSGE ¥ 65| 50| 115 | 36.0| 79.0
107 | XE ' 47| 52| 99 | 21.6| 77.4 157 |858 wie | 49| 47| 96| 16.8] 70.2]
108 | = 52| 53| 105 | 27.6|77.4 |58 [k wF | 49| 47| 96 | 16.8] 79.2|
100 |FE = 47| 45| 92 | 14.4| 776 159 [BA BE 48| 48| 96| 16.8| 70.2|
110 |#pE B 46| 46| 92 | 14.4] 776 160 | H8 fm—BE | 47| 49| 96| 16.8] 70.2|
T R 46| 52| 98] 20.4|77.6 161 | AT #5— 47| 55| 102 | 22.8] 79.2
12 |/NRE ZoRE 51| 53| 104 | 26.4| 77.6| 162 |44 Efn 60| 54| 114 | 34.8| 79.2
13| LE iE 55| 56[ 110 | 32.4] 77.6 163 |HE ®Efn . | 45| 50| 95| 15.6]79.4
T4 |8 wx | 48] se| ve| nz2|77.8] 164 [GHT EARE | 54| 47)|101 | 21.6| 79.4
115 | 2B wpE sg| 46| 85| 7.2|77.8 165 | LR PES 53| s4|107 | 27,6 79.4]
116 | B0 & 49| 48| 97| 19.2| 77.8 166 | £ 15 45| 49| 94 | 14.4| 79.6
17 éﬁll'l B 47| s0| 97 |19.2| 78| | 167 jtbilz Fn 53| 47| 100 | 20. 4| 79. 6]
s |EE — | 57| 46| 103 | 25.2| 77.8] 168 [FEAT =— 49| 51| 100 | 20.4| 79.6
119 k%% EE | 51| s2|103 | 25.2| 77.8| 169 %;@ RENE 58| 48| 106 | 26.4| 79.6
120 | JEAH Bt | 45| s8|103|25.2|77.8] 170 |Skm  — 55| 51| 106 | 26.4| 79.6
121 |AgR ®K= 46| 44| 90 | 12.0| 78.0 171 |65 ®BiZ 52| 54|106 | 26.4| 79.6
122 #E fE | s3] 43| 96 18.0] 78.0 1172 Wi Rt 51| 48| 99| 19.2|79.8]
123 |BE W 47| 49| 96| 18.0| 78.0 73 [ 46| 53| 99| 19.2| 79.8]
i e e = e e T
125 |#10 — | 53| 55|108|30.0]78.0 175 | bR %% | 53| s2| 105 | 25.2] 79.8|
126 |84 BB 58| 56| 114 | 36.0/78.0f | ,4,41.}55__176 AR Fo 49| 56| 105 | 25.2| 79.8
127 |AiyA & 51| 80| 101 | 22.8| 78.2 177 | & MER 46| 46| 92 | 12.0] 80.0
128 | %M HH o 49| 52| 101 | 22.8] 78.2 178 bl WE 50| 48| 98| 18.0]80.0
120 @ wE s4| 59113 |348|7.2] | | 179 | =4 % | 49| 49| 98| 18.0]80.0
130 | BN R 43| 45| 88| 9.6|78.4 180 |fhin B 49| 55| 104 | 24.0| 80.0
131 |5 Eh 46| 48| 94 | 15.6| 78.4 181 |A®m IEFH 53| 57[110 | 30.0| 80.0
132 |FE HAI 45| 49| o4 |15.6| 78.4 182 |[&kf # | 47| 44| 901 10.8]80.2]
133”%33' %‘ ' 55| 45| 100 | 21.6] 78.4 183 |[Rik mE 46| 51| 97 | 16.8] 80.2
134 |fEE ER 52| 48] 100 | 21.6] 78.4 184 |ERK4 POER 46| 51| 97 |16.8]80.2|
135 |Fandy 58| 48| 106 | 27.6] 78.4 185 | &3 % 45| 52| 97| 16.8|80.2|
136 | &4 fRIE 55| 51| 106 | 27.6| 78.4 186 | &3 5T 59| 50| 109 | 28.8| 80.2
137 |E BA 51| 55| 106 | 27.6] 78.4 187 [\Ld B 47| 49| 96| 15.6| 80. 4|
138 |[fx  fE— 51| 55| 106 | 27.6] 78.4] 188 |BFBE R 53| 55| 108 | 27.6| 80.4|
13 | ERE % 46| 47| 93| 14.4| 78.6 180 | 5@ =@ 56| 58| 114 |33.6/80.4|
140 |fn BB | 54| 45| 99 | 20.4| 78.6 190 |fhR  ER 47| 48| 95| 14.4|80.6]
141 | A3 FEIE 49| 50| 99 | 20.4|78.6 191 Il 55 50| B1|101 | 20.4| 80.6
40 | REE HE 53| 52| 105 | 26.4| 78.6 192 |£fE EE 49| 52| 101 | 20.4| 80.6|
143 | P o7 51| 54|105 | 26.4 78.6| | LIy 3| 193 |kF Bz 57| 50| 107 | 26.4] 80.6|
144 |%£E BT 50| 55| 105 | 26.4| 78.6 194 |BTE ok 46| 42| 88| 7.2|80.8|
145 |Em H 60| 51| 111 32.4| 786 195 |kt EER 48| 52| 100 | 19.2] 80.8
146 |[BA B 54| 57111 [ 32.4] 78.6 196 |#8Ak BETF 48] 52100 | 19.2] 80.8
47 |wE A 54| 50| 104 | 25.2] 78.8 197 | BEER 56| 50| 106 | 25.2| 80.8
148 5%% &7 53| 51|104 | 25,2 78.8 168”':{5}% ﬂ """"" 51| 55| 106 | 25.2| 80.8
149 |81 Bx 53| 51| 104 | 25.2| 78.8 199 |6 8 | 56| s6|112|31.2| 80.8
150 |B#& #Z—ps | 51| 53|104|26.2|78.8 200 | TR 52| 53| 105 | 24.0] 81.0
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BRM A ERR29404 A 138
Ha—A:1-5-6:7-8-9 W3 —R:1:4-5:6-8-9

B R:2:4:5:6-8:9 Bk L 7 BB
NRAZ K 4 OUT | IN |GROSS| HDCP |NE T|A |7 K JEHL K % QUT | IN [GROSS| HDCP |N E T|A |5R BE
201 | B Fh 54| 57| 111 | 30.0| 81.0 251 =4 {EHE 51| 54105 | 20.4| 84.6

202 | BT BIE 61| 56| 117 | 36.0| 81.0 952 |88 K 50| 55|105|20.4| 84.6]

203 | fiE wE— 49| 49| 98| 16.8|81.2 253 |REE B | 58| 51100 |24.0|85.0] |

oot |igpE B# | 55| s5|110 | 28.8|81.2 254 |[IREB fBE 57| 52| 100 | 24.0] 85.0

205 |BFE EEF 54| s56|110 | 28.8] 81.2 255 | BB R 62| 59121 | 36.0| 85.0

206 | F)I| EE 50| 60| 110 | 28.8| 81.2 256 | FofR 58| 56| 114 | 28.8| 85.2

o7 |ie mme | e4| 52116 | 348|812 | 257 |HbBE 7R 51| 62| 113 | 27.6] 85.4

008 R fEA 46| 51| 97| 15.6| 81.4 258 |FizZe =& 61| 58119 | 33.6| 85.4

209 |82 BE 45| 52| 97| 15.6] 81.4] | 250 |hEF s | 66| 52118 |32.4|85.6

210 | BH % 51| 52| 103 | 21.6]81.4 060 |#mBF s+ | s8] 59117 |31.2] 858

211 |bE HA 53| 49| 102 | 20.4|81.6 261 [ILME  FES 59| 63| 122 | 36.0| 86.0

92 |BE B s0| s2|102 | 20.4| 816 262 |5 & 56| 58| 114 | 27.6/ 86.4

213 [N Wz 57| 51| 108 | 26.4| 81.6 o6n |mEE B85 53| 54107 |20.4|866] | |
214 | T BF 55| ss|113 312|818 | 264 |5EHE BRI 71| 51| 122 | 34.8| 87.2|

o5 |gEsh TR | 48| 52| 100 | 18.0] 82.0 266 |&tl 13 68| 54|122 |3a.8|87.2] | |
216 |thE® —3 57| 449|106 | 24.0| 82.0 266 | IE 64| 51| 115 27.6| 87.4

07 |HE 57| 55| 112 | 30.0] 82.0 267 | &4k B | 59| 56| 115 | 27.6| 87.4

218 |EE T | 64| 54| 118 | 36.0]82.0 268 |Fise B— 67| 57| 124 | 36.0| 88.0

219 | &Fnm EZ 56| 62]118 | 36.0] 82.0 290 | A B | 62| 62]124|36.0]88.0

220 | EHE s | 4s| 51| 99| 16.8] 82.2 270 | Kbk %k 48| 53|101|12.0| 89.0

221 [4hE B 60| 45105 | 22.8| 82.2 271 |#ERT  Eth 53| 61| 114 | 24.0| 90.0

220 | 7)1l WERE 53| 52| 105 | 22.8| 82.2 272 |ks B 60| 65| 125 | 33.6/ 91.4

203 | i (2% | s8] s53|111]28.8|82.2 273 |#AIL K 69| 53122 | 30.0| 92.0

204 | &L EET 54| 50| 104 | 21.6|82.4 274 |z $i— 70| 58| 128 | 36.0( 92.0

295 R EE 55| 61116 | 33.6| 82. 4 275 |EH = 58| 67| 125 | 32.4| 92.6

226 |SEH FEFE 55| 54| 109 | 26.4| 82.6 216 [EAR 64| 64|128 | 33.6| 94.4

27 Bt B 53| 490|102 | 190.2)82.8] | 277 | BB 66| 66132 | 36.0]96.0[

28 |mE B 57| 51| 108 | 25.2| 82.8 218 | & BE 1 71| 82| 183 | 36.0f17.0

209 | FHIR BE 55| 53| 108 | 25.2] 82.8 279 |megE, B | 83| 83|166 [36.0[130.0

230 | BRI & 53| 55| 108 | 25.2] 82.8| | 280 | %L #h— 95| 91| 186 | 36.0[150. 0

231 |FE RF 56| 658|114 | 31.2| 82.8

232 |EHE EI 57| 50| 107 | 24.0] 83.0 Bie Kb | a8l 38| 76| 48|72 | |<xbvm
233 [IBFR IEA 61| 58| 119 | 36.0| 83.0| A # | 39| 37| 76| 3.6 72.4 Nz Ko
234 |FERE  HE 58| 61119 | 36.0] 83.0 ) i i 1
235 2RI FRE 570 62|19 |3s0l830 | | | | | | |

236 /Mg IEJE 49| 51| 100 | 16.8| 83.2

037 | B meE | 54| 52| 106 |22.8]83.2

238 | FP9 B 63| 53| 116 | 32.4] 83.6

230 |BVE A— 52| 57| 109 | 25.2| 83.8|

w0 lgim w2 | so| s2|w2|msolesol || | | | | | | |

241 |XKIL 3F 51| 63| 114 | 30.0| 84.0

POACE T 69| 51|120 | 36.0] 84.0

243 |i%T Wi 63| 57|120 | 36.0| 84.0

244 | R TEAE | 60| 60| 120 36.0]84.0

245 |kt BEIE 60| 60| 120 | 36.0| 84.0

246 |FRBEE F 56| 45| 101 | 16.8| 84.2

247 |4 =W 53| 54107 | 22.8| 84.2

28 @ = 59| 60| 119 | 34.8| 84.2

249 |3 KR 62| 50| 112 | 27.6|84.4

250 | B o 52| 60| 112 | 27.6|84.4
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